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entries

In(i) before cuts

W xi_log_1_copy

Entries 100000

Mean 0.007996
Std Dev 3.859

Underflow 47
Overflow 49
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entries

==,y after TPC cut
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Xi_multiplied_2_copy

Entries 32881
Mean 0.005281
Std Dev  0.01206
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==,y after TPC & BBCL cuts
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In( ) after TPC & BBCL cuts
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entries

=.*Z,y after TPC, BBCL & K cuts
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Xi_multiplied_4_copy

Entries 657
Mean 0.001717
Std Dev  0.003779
Underflow 0

Overflow 0

=
o ay



entries

In( ) after TPC, BBCL & Ko cuts

xi_log_4_copy
Entries 657
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=.*Z,, after TPC, BBCL, K & extra particles cuts
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In(=E) after TPC, BBCL, K; & extra particles cuts

entries

VV xi_log_5_copy

Entries 657

Mean 0.001076

Std Dev 1.765

Underflow 0

Overflow 0

| | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | |

-8 -6 -4 -2 0 2 4 6 8 =10

UES)
'



= Vs =,, before cuts
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Entries 100000
Mean x 0.05785
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Xiy

= Vs =, after TPC cut
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Xiy

= vs =, after TPC & BBCL cuts
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[ xi_e w 3
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Xiy
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xi_e w 4

Entries

Mean x 0.04588
Meany 0.04406
Std Dev x0.06704
Std Dev y 0.06371
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=¢ Vs =, after TPC, BBCL, Ii & extra particles cuts

xi_e w5

Entries
Mean x 0.04588
Meany 0.04406
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Std Dev y 0.06371
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